U6D6 Inverses Graphically per8-9.notebook

December 04, 2019

16. K(30)=303.15
5(303.15) = 352.5 m/s

1. a. double trouble HW 6.5
b. D {x|x>-3}
c. see graph next page
d R {yly<0}
1 3 2. 11
4, x2+Bx+2 5. 8
7. 9x%ebx 8. 3x2-6x+2
10. b
11. -4
13. b5
14, -4

3. 29
6. 1
9. A
12. 3
15. 3

HW 6-6 tonight: #s1-3 also state domain & range
of f and f inverse like we did in notes.

QUIZ 2 Thurs Days 4 & 5, operations
with functions and composition.
TEST next Tuesday

Jan 16-1:07 PM

State the type of trouble.

Sketch the graph.

< aooe

-3
J2x+1

o double frovble.

Find the domain algebraically.

Use the graph to find the range.

C.

HW 6.5

T AY
' I
| X

IX+170
20=1

o {xlx>-7]

var onder{ " in dehom

d.

fyly<o}

7

Given: f(x) = x* - 2x, g(x) = 3x + 2, and h(x) = Jx +1 find each of the following:

Loty = Fl-1) =3
9[—{): A(-1) 41 =-1
g-N = [H)2-20-1)=3

(o h®- g(3)+ hi8)
® Jbt3-2

g(8)=3(8) +1:26
hlg)= 8713

h3) 43T *2
gi)-3(2)42 <8
7. (a0 = £ (9(X))

= QM+ 2N Y - Y=Y
= QY+ UX

5. (g-h)3) = 9{hl5))=9(2):8

CF(3¥+2) = (3x42)%-2(5%72)

2. g(f(-1) = g(5J= i
f1) =3 (see#)
9(3)=3(3)+2 =l

4 (g-fix =g(x) - Fx)

6. gt =g(hls)= g(3) = Il
)= 42-2(4)=8

g(3)= 11 (sce #2)
8. (gof = G (Fx))= IX*-bXH2

o B FL- ALY
NS T ) &

hig)= {541 =3

g(x?~2x):5(xz-zx)+2
= 3XP-X+2

Jan 11-8:51 PM
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9. Ifg(x)=3x-5andh(x)=2x -4, then (g-h)(x) = . 4) 5
N VASL )
€ ex-17 Q{MX)) {
b. 6x-14 z (ﬂK‘IZ"5
c. bx-9
d x-1
10 If f(x) = x* + 5 and g(x) = x + 4, then f(g(x)) =

F(xH8) = (X+4)*+5

a. x°+9
@ xzz+8x+21 = /)(4-‘})()(“}) +5
Qe S8 bt S

11 - 15: The graphs below are the functions y = f(x) and y = g(x). Evaluate each of the
following questions based on these two graphs.

i gf(2y= Q1) = -4 FHEETE
)= -1 '
12, (Feq3)-_atl =3
f13)+9(3)
5

3. (o)) = 1(0(4))=
0d)<2 — f(0)=5
TR Pk S
£{0)79(0) = 2(-1)
15. (gofER)=.d
gFim)  #H2)<5
g(5)-3

16. Physics students are studying the effect of temperature, T, on the speed of sound,
S. They find that the speed of sound in mefers per second is a function of the

temperature in degrees Kelvin, K, by S(K)=410K. The degrees Kelvin is a function
of the temperature in Celsius given by K(C) = C + 273.16. Find the speed of sound
when the temperature is 30 degrees Celsius. Round to the nearest tenth

K(30): 304 213.15  §(303.15) = [410(303.15)
: 303.15 - 352.5 m|S

Jan 11-8:51 PM

2(1, 2) (3108 — e 32 1), (v3)F
Inverse Relation > the set of ordered pairs obtained by interchanging the 15t & 2nd
= elements of each pair of a relation. Ss4ch X 4

Taking the inverse is the same as a reflection in the line

K{l(':x
vz (5

Nov 20-3:55 PM
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To find an inverse graphically:
Forl & 2:
a. Make a table and graph the inverse relation.
b. State the domain and range for the relation & inverse.
1, e, 2. otk
; L_L x|y
7 310 I A 211
70 2t | e 1 |-2
0 12
v __ﬁ" 6|3 Q f b 01 '_1
‘,-"" B H 2|1
v D y > Jnvooe
O ".'3 3 ’_—l
" =2 <L
~|! -3
3|b =2 ||
1|
Relation: Inverse: Relation: Inverse:
BN 0k DHUEES o BNz
L2 £ o )33 (¢ €n3%
R: 2115203 R: 51’ ‘ﬁ.?-a R: iL‘QJ g—’) E#C:éloo
To0) L53,00) 3,00 réﬁw
What are some things that you notice about the relationship between the two ion and
their inverses? W‘J— one A malan bt pov- Ox
O +Q  yalotew SwitcA.

Nov 20-3:56 PM

What are some things that you notice about the relationship between the two functions and
their inverses?

—

_—

One-to-One Function (1 - 1 function) > A function in which each element of the range
corresponds to exactly one element of the domain. Passes both the vertical AND horizontal

line tests. X— (j X =« 9
F_‘A,\o-\aum Y~ @W«o“ﬂ-ﬂ’\

What do you think the horizontal line test is?

Jan 16-1:28 PM
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Horizontal Line Test > A function is 1 -1 if a horizontal line does not intersect the graph
in more than one point.

Draw three relations that meet the following conditions: 1 that is not a function, 1 that is a
function but not 1 -1, and 1 that is a1 -1 function. Have your parfner verify your graphs.

@“I, (4 e

}V

Relation only

Nov 20-3:56 PM

Determine if each of the relations below @uncﬂons. If not, explain why not. For

equations, you can sketch or use a table of values to demonstrate your knowledge of the

relation. ‘
1 )
3. {(2.3).(3.2).(4.5).(5.4) 4. {(2.-1).(3,-2).(2.-4). (-4, 3)}
l_.l éwxc.'(\mf) M-\- ao éw\c%‘«-\r\ (<8 ‘~ l
5. y=|x-1] ,\/\ 6. y=x+44
\éM‘t"\,N“" (—( \’{60»0*""’\

Nov 27-2:03 PM
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7.

Given f(x)=2x-6 (Mo cade—
Make a table & graph the function & its' inverse.

State the domain & range for the funcfioa@fhe inverse ‘j— ’Pa

a.

b.

S5X\Xé
0N aa

o x = @___i‘j,\g Pt

N

B

-6 -3 O L,\y

Nov 27-2:04 PM

QUIZ

HW tip: Remember to find the inverse graphically
by using a table of points. Then switch x & y.

Dec 3-4:30 PM
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